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Guess Paper – 2011
Class – XII
Subject –Accountancy

M.M. 80

                                                           


Time :- 3 hrs
Part A
(Accounting  for Not-for-Profit organizations, Partnership firms and Companies )
1. How would you calculate the amount of consumable material?
1

2. State any two content of partnership deed.


1

3. Rohit, Ravi, Rakesh & Rajesh are partners sharing profits in the ratio 1:2:3:4 Ravi retires from the firm. Calculate new profit sharing ratio after Ravi’s retirement.
1

4. Under which section, settlement of account under dissolution is made.
1

5. What is meant by ‘Minimum Subscription’?



1

6.  The fine arts club had received in 2006 Rs. 20,000 towards subscriptions. Subscriptions for 2005 unpaid on Jan 1, 2006 were Rs. 2000, Rs.1800 of which were received in 2006. subscriptions paid in advance on Dec 31, 2005 were rs. 500 and the same on Dec. 31, 2006 was Rs.400. Subscriptions for 2006 unpaid on Dec. 31, 2006 were Rs. 700. Show how ‘Subscriptions’ item will appear in the Income and Expenditure Account.




3
7. Ram, Shyam and Mohan are partners in a firm sharing profits and losses in the ratio of 2 : 1 : 2. Their fixed capitals were Rs. 3,00,000; Rs. 1,00,000 and Rs. 2,00,000 respectively. Interest on capital for the year 2004 was credited to them @ 9% p.a. instead of 10% p.a. The profit for the year before charging interest was Rs. 2,50,000. Prepare necessary adjustment
4
8. L and M are sharing profits and lasses in the ratio of 2 : 2. They admit Z as a partner who takes ¼ th share from L and 1/8 th share from M. Calculate new profit sharing ratio of the partners.

9. X and Y are partners sharing  profit in the ratio of 2 : 1. Their balance sheet as on 31st March 2007 was as follows:- 

	Liabilities 
	Rs. 
	Assets 
	Rs.

	S. Creditors Reserve Fund

Capital A/CS

X   :  75,000

Y    :  62,000
	25,000

18,000

1,37,000


	Cash

S. Debters 

Stock

Investments 

Typewriter

Fixed Assets
	5,000

15,000

10,000

8,000

5,000

1,37,000

	
	1,80,000
	
	1,80,000


They admit Z on the following terms:- 

(a) Z brings in Rs. 40,000 as his capital and he is given ¼ th share in profits. 

(b) Z brings in Rs. 15,000 for goodwill half of which is withdrawn by old partners.

(c) Investments are valued at Rs. 10,000. X takes over investments at this value.

(d) Typewriter is to be depreciated by 20% and fixed Assets by 10%.

(e)  An unrecorded stock of stationery on 31.3.2007 is Rs. 1,000.

(f) By bringing or withdrawing cash, the capitals of X and Y are to be made proportionate to that of Z on their profit sharing basis.

Prepare capital accounts, pass necessary journal entries and new balance sheet of new firm. 8

 




(Or)

The following is the Balance Sheet of A and B as on 31st December, 2005:

	Liabilities
	Amount
	Assets
	
	Amount

	
	Rs.
	
	
	Rs.

	Sundry Creditors
	30,000
	Cash in Hand
	
	8,500

	Bills Payable
	8,000
	Stack in Trade
	
	5,000

	Mrs. A's Loan
	5,000
	Investments
	
	10,000

	Mrs. B's Loan
	10,000
	Debtors
	20,000
	

	General Reserve
	10,000
	Less: Provision
	2,000
	18,000

	Investment Fluctuation Fund
	1,000
	Plant
	
	20,000

	A's capital
	10,000
	Building
	
	15,000

	B's Capital
	20,000
	Goodwill
	
	14,000

	
	
	Profit & Loss A/c
	
	3,500

	
	94,000
	
	
	94,000

	
	
	
	
	


The firm was dissolved on 31st December, 2005 on the following terms:

(a) A promised to pay Mrs. A's loan and took away stock in-trade at Rs. 4,000. 

(b) B took away half of the investments at 10% discount.

(c) Debtors realized Rs. 19,000.

(d) Creditors and bills payable were due on an average basis of one month after 31st December, but they were paid immediately on 31st December at 6% discount, p.a

(e) Plant realised Rs. 25,000, building Rs. 40,000, goodwill Rs. 6,000 and remaining investments at Rs. 4,500.

(f) There was an old typewriter in the firm which had been written off completely from the books, it was estimated to realize Rs. 300, it was taken away by B at this estimated price.

You are required to prepare the (a) realisation A/c (b) partners' capital A/cs and (c) cash A/c to close books of the firm.








(8)

10. XY ltd. forfeited shares of Abhishek Bachan who have originally applied 400 shares out of the group who (applied 80000 shares and allotted 60000 shares), for non-payment of allotment money of Rs. 3 per share ( including premium Rs. 1). Company has not yet made final call Rs. 3 per share out of these, 150 shares reissued to Ash for Rs. 12 per share.


    3.

	11. Roshini and Somashri are partners in a firm sharing profit in the ratio of 3:2.  

Their Balance Sheet as at  March 31, 2003 was as follows:

Balance Sheet of the firm as at March 31, 2003

	Liabilities
	                 Rs.
	Assets
	Rs.

	Roshini’s Capital

Somashri’s Capital

Creditors


	45,000

30,000

30,000

1,05,000
	Cash

Plant

Building
	15,000

30,000

60,000

1,05,000

	The goodwill of the firm has been valued at Rs.30,000 and the building at Rs. 75,000 on March 31, 2003.  The partners decide to share profits equally with effect from April 1, 2003.  You are required to record the necessary accounting entries to be made in the books of the firm on account of change in the profit sharing ratio.    4.

	


12. Sudhir ltd. took over assets of Rs. 850000 and liabilities of Rs. 150000 of Gopal ltd. at an agreed price of Rs. 720000. The purchase consideration was discharged by issuing 12% debentures of Rs. 100 each at a premium of 20%. Give journal entries.

4

13.  (a) On 1.1.1994, PT ltd. issued 500, 11% debentures of  Rs. 1000 each at 90% and offered the holders option to convert their holdings into 12% preference shares of Rs. 100 each at Rs. 95 after 31.12.1997. On 1.1.1998, the holders of 342 debentures exercised their option. Give journal entries on 1.1.1998, assuming debentures were converted at the date of redemption.

     (b)  Z ltd. purchased for cancellation 200 of its own debentures of Rs. 100 each for Rs. 18,600 and 100 debentures for Rs. 9500. Expenses of purchases for  Rs. 150. Journalize.  

(3+3=6)

14. On December 31, 2007, the Balance Sheet of Pinki, Qureshi and Rakesh showed as under: Balance Sheet as on March 31, 2007

	Liabilities
	Rs
	Assets
	Rs

	Sundry Creditors

Reserve Fund

Capitals:

Pinki   15,000

Qureshi 10,000

Rakesh 10,000


	25,000

20,000

35,000

80,000


	Buildings

Investments

Debtors

Bills Receivables

Stock

Cash


	26,000

15,000

15,000

6,000

12,000

6,000

80,000

	The partnership deed provides that the profit be shared in the ratio of 2:1:1 and that in the event of death of a partner, his executors be entitled to be paid out :

(a) The capital of his credit at the date of last Balance Sheet.

(b) His proportion of reserves at the date of last Balance Sheet.

(c) His proportion of profits to the date of death based on the average profits of

the last three completed years, plus 10%, and

(d) By way of goodwill, his proportion of the total profits for the three preceding

years. The net profit for the last three years were :

(Rs.)

2005 16,000

2006 16,000

2007 15,400

Rakesh died on April 1, 2007. He had withdrawn Rs.5, 000 to the date of his death. The investment were sold at par and R’s Executors were paid off. Prepare Rakesh’s Capital Account that of his executors.




15. B Ltd. Invited applications for issuing 200000 equity shares of Rs.10 each.  08 

 The amount was payable as follows:

On application Rs.3 per share; on allotment Rs.5 per share; and on first and final call Rs.2 per share. 

Applications for 300000 shares were received and pro rata allotment was made to all the applicants.

A who was allotted 3000 shares failed to pay the allotment and call money. His shares were forfeited. Out of the forfeited shares 2500 shares were reissued as fully paid up @Rs.8 per share.

Pass the necessary Journal entries to record the above transactions.


8

(Or)

Garima Limited issued a prospectus inviting applications for 3,000 shares of Rs. 100 each at a premium of Rs.20 payable as follows:

On Application Rs.20 per share

On Allotment Rs.50 per share (Including premium)

On First call Rs.20 per share

On Second call Rs.30 per share

Applications were received for 4,000 shares and allotments made on prorate basis to the applicants of 3,600 shares, the remaining applications being rejected, money received on application was adjusted on account of sums due on allotment. Renuka whom 360 shares were allotted failed to pay allotment money and calls money, and her shares were forfeited. Kanika, the applicant of 200 shares failed to pay the two calls, her shares were also forfeited. All these shares were sold to Naman as fully paid for Rs.80 per share. Show the journal entries in the books of the company.



8
16. Following is a summary of the cash book of moon club for the year ended 31st Dec, 2006.

	Receipts 
	Rs. 
	Payments
	Rs.

	Balance (Jan 1, 2006)

Subscriptions for:

2005 500

2006 17,000

2007 1,000

Sale of Refreshments
	5,000

18,500

20,000
	Rent

Printing

Purchase of Refreshments

Fuel and light

Purchase of equipment

Miscellaneous Expenses

Balance(Dec 31, 2006)
	7,800

3,000

12,000

3,500

2,000

1,200

14,000

	
	43,500
	
	43,500


Prepare Income and expenditure account for the year ended Dec 31, 2006 and balance sheet as on that date.

(i) On Jan 1, 2006, the club owned equipment valued at Rs. 15,000

(ii) Rs. 2,600 rent was outstanding on Dec 31, 2006.

(iii) It was decided to depreciate the equipment by 20%.

(iv) Rs.1, 500 subscriptions were in arrears for 2006.

(v) Stock of refreshments, valued at Rs. 500 on Dec 31, 2006.


6.
PART B

ANALYSIS OF FINANCIAL STATEMENTS
17. How would you disclose ‘contingent liabilities’ in the balance sheet of a company? Give any one example of contingent liabilities also.
18. What are the limitations of CFS?
19. A mutual fund company receives a dividend of Rs. 5, 00,000 on its investment, what type of activities is their while preparing CFS?
20. Give headings and sub-headings of following items in balance sheet :-

(i) Unclaimed dividend (ii) Patents, trade marks (iii) Arrears of fixed cumulative dividend (iv) Shares in SRS ltd. (v) Underwriting commission (vi) Capital redemption reserve  

3.

21. Following is the balance sheet of X ltd. as on 31st March, 1994:-

	Liabilities
	Amt.
	Assets
	Amt.

	Equity S Capital 40000 equity shares of Rs. 10 each.

12% Preference S. Capital

Reserves

Profit & loss a/c 

15% debentures 

Current liabilities
	400000

200000

50000

220000

100000

230000
	Fixed assets

Current assets

Underwriting commission
	800000

380000

20000



	
	1200000
	
	1200000


Profit for the year ended 31st March, 1994 before payment of interest and tax amounted to rs. 355000. Calculate return on investment. 





(b) What will be the effect of following transactions on current ratio which is 1:2. :-

(i) Payment of creditors Rs. 12000.

(ii) Sale of goods casting Rs. 5000 for 5500.

(iii) Accepting a B/P against creditors shown in balance sheet Rs. 20000. 

(iv) Payment of bank overdraft Rs. 10000.




(2+2)







Or
Calculate any three of the following ratio with the help of he following information: 
(i) Operating ratio, (ii) Current ratio, (iii) gross profit ratio and (iv)  Proprietary ratio.
Information: Equity Share Capital Rs. 5,00,000; 12% Debentures Rs. 6,00,000; 9% Preference Share Capital Rs. 3,00,000; General Reserve Rs. 1,00,000; Sales Rs. 10,00,000; Opening stock Rs. 80,000; Purchases Rs. 6,00,000; Wages Rs. 1,00,000; Closing Stock Rs. 1,00,000; Selling and distribution expenses Rs. 20,000; Other current assets Rs. 5,00,000 and Current liabilities Rs.3,00,000 






4.

	Prepare a ‘Common Size Income Statement’ with the help of the following information

	Sales

Cost of goods sold

Direct Expenses

Indirect Expenses

Rate of Income Tax
	2006

Rs.

450000

60% of Sales

10000

10% of Sales

50% of Net Profit before tax
	2007

Rs.

500000

40% of Sales

180000

25% of gross profit

40% of Net Profit before tax


22.  Balance sheets of Mr. Khan and Mrs. Khan 1-1-1988 and 31-12-1988 were as follows :- 

	Liabilities
	1-1-1988
	31-12-1988
	Assets
	1-1-1988
	31-12-1988

	Creditors

Bank loan

Loan for IFCI

Capital
	40,000

25,000

40,000

        1,25,000


	44,000

-----

50,000

1,53,000
	Cash

Debtors

Stock

Machinery

Land

Building
	10,000

30,000

35,000

80,000

40,000

35,000
	7,000

50,000

25,000

55,000

50,000

60,000

	
	2,30,000
	2,47,000
	
	2,30,000
	2,47,000


 During the year a machine casting Rs. 10000 (accumulated depreciation Rs. 3000) was sold for Rs. 5000. Provision for depreciation against machinery as on 1st Jan , 1988 and 31st Dec 1988 were of Rs. 25000 and Rs. 40000 respectively. Total amount of interest paid during the year was Rs. 7000.Net profit for the year 1988 Rs. 45000. Prepare cash flow statement.
(Or)
X Ltd. made a profit of Rs. 5,00,000 after considering the following items:







    Rs.

    I. Preliminary Expenses Written off
5,000


II. Depreciation on fixed assets
50,000


III. Loss on sale of Machinery
20,000

   IV. Provision for Doubtful Debts
10,000


 V. Gain on sale of Land
7,500

          The following is the position of current assets and current liabilities:








1992

1993








Rs.

Rs.

Debtors
52,000
78,000

Bills Receivable Expenses
15,000
12,000

Prepaid Expenses
2,000
3,000

Creditors
40,000
51,000

Bills Payable
19,000
12,000

Expenses Payable
34,000
20,000
Calculate cash from operation. 




6.
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